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QUESTION 1

You are planning to upgrade a SOA suite production environment from 11g to 12c and are evaluating the required steps
in the upgrade process. 

Identify the two statements that accurately describe that process. 

A. Composites must be redeployed after the upgrade process. 

B. It is recommended to-purge as many nonessential instances in the dehydration store as possible before the
upgrade. 

C. BAM dashboards and alerts will be migrated automatically. 

D. Long-running instances will resume after the upgrade process has completed. 

Correct Answer: BC 

 

QUESTION 2

Which two are correct statements about the Oracle Cloud Adapter for Salesforce.com? 

A. It uses either HTTP basic authentication or username token authentication to perform secure interaction with
Salesforce.com. 

B. It can make both synchronous and asynchronous calls through the Salesforce.com SOAP API. 

C. Behind the scenes, it uses the SOAP API provided by Salesforce.com. 

D. The design-time tooling generates a WSDL that is different from the enterprise WSDL available from
Salesforce.com. 

Correct Answer: C 

 

QUESTION 3

Consider the current values of BPEL variables InputVariable andOutputVariable: 

Then consider the following BPEL activity Assign1:  

 query=”/ns2: query_Input/ns2:Row_Id”/>  

 query=”/ns2: query_Outnput/ns2:RowId”/> 
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Which two changes allow Assign1 to work with the current values of InputVariableandOutputVariable? 

A. adding the attribute bpelx :insertMissingToData=”yes”to line 2 

B. adding the attribute bpelx :insertMissingFromData=”yes”to line 2 

C. correcting the namespace prefixes in line 5 

D. correcting the namespace prefixes in line 8 

Correct Answer: BC 

 

QUESTION 4

Results catching has been configured on a business service. A previously cached result has been flushed from the
cache. 

Which two events may have occurred? 

A. Result catching has been disabled for the business service. 

B. The WSDL resource for the business service has been updated. 

C. The back-end service referenced by the endpoint URI has become unavailable. 

D. The back-end service has returned a different response for the cache key. 

Correct Answer: BD 

 

QUESTION 5

A company wants to use Oracle SOA Suite to support a zero message loss system. Which three Oracle Adapters can
the company use? 

A. JMS Adapter 

B. Database Adapter 

C. EJB Adapter 

D. File/FTP Adapter 

E. Socket Adapter 

Correct Answer: ABC 
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